
49571.1
a 24 blocks I block per min 24 mins

24 blocks 2 blocks per min 12 mins

b

in i te t
1 15

a 2 5 b 1 4 24

d X e 4 3

1 16
a 5 5 b 2 6 03 1 70

5 5
2 16 2 16
2x 2x
Σ

allvaluesofx.la
c 3 11 4,3 d 4 1 4 7

I 1
3g 432 4 4 8

4 4



4 K

0 8
inosolutionI

1 18

a 12 gallons 16
b 12.60 1 50 8 4 gallons
c still linear but steeper

1 20

a 21 3 3 3 1

2 9 9 1

18 9 1 _8

b 8 31 2 2

8 6 272
8 872
8 64 560

c
1 2

d
12 1 2 2

15 1 2 5 1 2



3 1 2 5 1 2

1 21
a

5 3
b

X2
1 22

a Function A Y 9 3

81 3

84

Function B Y V9 2

Chot allowed so

no solution

b We want an output of 0 so Y 0
Function A 0 X 3

53 X
I cannot sq.tt
negative s

Function B Q A 22
21 15 72
4

Eric can get an output of 0 if he



get outpi 0

plugs in 4 for X


